MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305)375-2001 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NO A) : www.buildingcodeonline.com

Eagle Window & Door, Inc

375 East 9™ Street

Dubugue, IA 50024

Scopk:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid afier the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building Code,
including the High Velocity Hurricane Zone.

DESCRIPTION: “Series Ascent Aluminum Clad” Outswing Wood French Door w/wo Sidelites

APPROVAL DOCUMENT: Drawing No. $-2601, titled “Ascent Series” Alum. Clad Wood Doors Outswing-
“Impact Resistant” , sheets 1 through 12 of 12, prepared by RW Building Consultants, Inc., dated 11/03/05 signed
and sealed by Lyndon F. Schmidt, P.E., bearing the Miami-Dade County Product Control Approval stamp with the
Notice of Acceptance number and approval date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shalt
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence page E-1 and E-2, as well as approval document mentioned above.
‘The submitted documentation was reviewed by Herminio F. Gonzalez, P.E., Director, BCCO

NOA No 05-1107.03

Expiration Date: February 23,2011
Approval Date: February 23, 2006
Page 1




Eagle Window & Door, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE PAGE

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No.S-2601 titled “Ascent Series” Alum. Clad Wood Doors Outswing-
“Impact Resistant” sheets 1 through 12 of 12, prepared by RW Building Consultants,
Inc., 11/03/05, signed and sealed by Lyndon F. Schmidt, P.E.

B. TESTS
1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
Along with installation diagram of an outswing wood door, prepared by Testing
Evaluation Laboratories, Inc. Test Report No. TEL-05-1010-5, dated 10/26/05, signed
and sealed by Wendell W, Haney, P.E.
2. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Cyclic Wind Pressure Loading per FBC, TAS 203-94
6) Forced Entry Test, per FBC 2411 3.2.1 and TAS 202-94
Along with installation diagram of an outswing wood door, prepared by Testing
Evaluation Laboratories, Inc. Test Report No. TEL-05-1010-4, dated 10/26/05, signed
and sealed by Wendell W. Haney, P.E.

C. CALCULATIONS
1. Anchor Calculations and structural analysis, prepared by RW Building Consultants,
Inc., dated 11/03/05, signed and sealed by Lyndon F. Schmidt, P.E.
Complies with ASTM E1300-02

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 01-1204.01 issued to EI. DuPont DeNemours, Inc. for “Sentry
Glass ® Plus” dated 01/17/02, expiring on 01/14/07.

OZW e el &

Herminio F. Gonzalez, P.E.

Director, Building Code Compliance Office
NOA No 05-1107.03

Expiration Date: February 23,2011
Approval Date: February 23, 2006



Eagle Window & Door, Inc.

NOTICE OF ACCEPTANCE: EVIDENCE PAGE

F. STATEMENTS
1. Statement letter-of code compliance and no financial interest, dated 11/03/05, signed

and sealed by Lyndon F. Schmidt, P.E.

G. OTHER
1. Letter from the consultant, dated?????, stating that the product is in compliance with

the Florida Building Code (FBC).

4//./ (h Hgte

Herminio F. Gonzalez, P.E.

Dlrector, Building Code Compliance Office
NOA No 05-1107.03

Expiration Date: February 23,2011
Approval Date: February 23, 2006




\\Rwbcsrv\rwbc\Proj 801 - 900\pf8331\5-2601\5-2601-1.dwg

2045 Kerper Blvd., Dubuque, IA 52004—-1072
PH. 563.556.2270

EAGLE  "ASCENT SERIES"

ALUMINUM CLAD WOOD DOORS
OUTSWING - IMPACT RESISTANT

GENERAL NOTES

1. THIS PRODUCT HAS BEEN EVALUATED AND IS IN COMPLIANCE WITH
THE FLORIDA BUILDING CODE INCLUDING THE "HIGH VELOCITY
HURRICANE - ZONE™.

PRODUCT ANCHORS SHALL BE AS LISTED AND SPACED AS SHOWN
ON DETAILS. ANCHOR EMBEDMENT TO BASE MATERIAL SHALL BE
BEYOND WALL DRESSING OR STUCCO. '

WHEN USED IN THE "HIGH VELOCITY HURRICANE ZONE” THIS
PRODUCT COMPLIES WITH SECTION 1626 OF THE FLORIDA BUILDING
CODE AND DOES NOT REQUIRE AN IMPACT RESISTANT COVERING.

WHEN USED IN AREAS OUTSIDE OF THE "HVHZ” REQUIRING
WIND—BORNE DEBRIS PROTECTION THIS PRODUCT COMPLIES WITH
SECTION 1609.1.4 OF THE FLORIDA BUILDING CODE AND DOES NOT
REQUIRE AN IMPACT RESISTANT COVERING.

FOR 2X STUD FRAMING CONSTRUCTION, THE ANCHORING OF THESE
UNITS SHALL BE THE SAME AS THAT SHOWN FOR 2X BUCK
MASONRY CONSTRUCTION.

6. CONDITIONS NOT COVERED BY THIS DRAWING ARE SUBJECT TO

FURTHER ENGINEERING ANALYSIS.

7. WOOD BUCKS BY OTHERS, MUST BE ANCHORED PROPERLY TO
TRANSFER LOADS TO STRUCTURE AND TO BE REVIEWED BY
BUILDING OFFICIAL.

8. FOR DESIGN PRESSURE RATING SEE CHART THIS SHEET.

9. THIS PRODUCT MEETS THE WATER REQUIREMENTS FOR HIGH
VELOCITY HURRICANE ZONES.

TABLE OF CONTENTS
SHEET # DESCRIPTION
1 TYPICAL ELEVATIONS, DESIGN PRESSURES & GENERAL NOTES
2 VERTICAL CROSS_SECTIONS
3 VERTICAL & HORIZONTAL CROSS_SECTIONS
4 HORIZONTAL CROSS SECTIONS
5 SINGLE_DOOR & SIDELITE_ANCHORING
6 | DOUBLE_DOOR ANCHORING
7 DOUBLE DOOR W/SIDELITES ANCHORING
8 SINGLE_DOOR_W/SIDELITES ANCHORING
9 SINGLE _DOOR W/SIDELITE_ANCHORING

10___| COMPONENTS

11___| COMPONENTS

12 | BILL OF MATERIALS & GLAZING DETAIL

 EAGLE WINDOW & DOOR, INC.

36.50" MAX. FRAME

WIDTH (TYP.) 149.00” MAX. O.A. FRAME WIDTH "
34.62" MAX. PANEL 29.12” MAX. 25.25" MAX. o PR R
WIDTH (TYP.) D.L.O. WIDTH D.L.O. WIDTH g8 fels
25.25” MAX. AN oA\
46
D.L.O. WIDTH (TYP.) < q q % EEENS:
0 s <~
7! Zi EER LI\
Mmoo L
/] A 1N S NN
T D/ 77 S|/ 583552
/ / \ 2823 4
- A / () A / \ AN 3\ |§§.8%85 %
i~2~20 YUY y I YN VT Y |f3désd: 3
a o Q ® o g .
TELE xE /) J My ya Vi : 8¢ .
NN / / / / P B8 g
< § = o 3 o
=5 %506 X 0 X X 0 8 5
WE ba hE \ 1 N N / 8 5
SE TS \ S, SO, Y.L
> o \ ~ 2 3 / U)Z Zl—L"-J
Y
\ Vi ///\ \ V/ Vi LBl 22
\ 2l IENE o 6
3 3 3 H Qb oz
; \ N\ £ . X i
‘ ; =o | b
Ly
— 9 > d - 3 PSg)y 28
=|m
ZQ= 3
SINGLE_DOOR NARROW STILE ~ DOUBLE DOOR WITH_SIDELITES ~ WIDE STILE SRl I @m
SIDELITE _SHOUWN GO G W
SIDELITE_SHOWN S L =
DESIGN PRESSURE (PSF.) DESIGN PRESSURE (PSF.) gl 22|z 3
+60.0 [ -7373 +60.0 | -65.0 2 23| g§
Q o
36.50" MAX.  36.50" MAX. 75.00" MAX. 110.50 MAX. OA 72.00" MAX. =
—{ FRAME [=— —=| FRAME {=~— (=— O.A. FRAME —— FRAME. WIDTH —=— 0.A. FRAME — N
WIDTH WIDTH WIDTH WIDTH o
= / 7 7/ a ///—1\ V4 7/ D\ Y avan i
£ / , T 7 NEWJ l /// \
.y
el 4 / axdl e A7 Al A X 0
i T o IS (| x 0 o /|l x h o T x x ) 5
I 1%
Lo s vewd IR | [ N | 17 N b >
QI Y / /\ M N / il 10% \ k/J/ &
3 | N || / 7 N AN 14
[ ]
NARROW STILE WIDE STILE SINGLE_DOOR SINGLE _DQOR DOUBLE _DOOR
SIDELITE SIDELITE WITH_SIDELITE WITH _SIDELITES =
DESIGN PRESSURE (PSF.)| |DESIGN PRESSURE (PSF.)| - |DESIGN PRESSURE (PSF.)| |DESIGN PRESSURE (PSF.) .
+60.0 ~75.0 +60.0 | —65.0 +60.0 | -65.0 +60.0 | —65.0 S
pate: 10,/04,/05
?iim):ed a comz;ig wihth the SCALE:  N.T.S.
4. [ DWG. BY:  AEM
CHK. BY: LFS
DRAWING NO.:
S-2601

SHEET 1

oF 12




\WRwbcsrvArwbc\Proj 801 - 900\pf833\S-260115-2601-2.dwg

NOTES:
1.

" 4 PRI SARER R N

INTERIOR

24

/" 8"\ HORIZONTAL CROSS SECTION

2 / @ HINGE

v @

INTERIOR

@ EXTERIOR

31

10 \ HORIZONTAL CROSS SECTION

\2 / @ LATCH

ITEM 41 #8 X 17 PPH SCREWS (7) ANCHORING RETAINING
BRACKET TO STILE AT 2" FROM EACH SIDE OF SASH AND 5
MORE EQUALLY SPACED (14.875")
2. ITEM 38 #8 X 3/4” PFH SCREWS (7) ANCHORING RETAINING
BRACKET TO SIDE JAMB AT 4" FROM EACH SIDE OF FRAME AND
S5 MORE EQUALLY SPACED (14.5416")

31

INTERIOR

SA

37

N/

Z7
LA

7

INTERIOR

=

Z4

—E

27
éD

11

SEE
NOTE 1

HORIZONTAL CROSS SECTION

2 / @ NARROW STILE

40

35

33

» Y@

/L

7 /"3 "\ HORIZONTAL CROSS SECTION

@ 3
B~
3
Se N
2]

EXTERIOR

P.0. Box 230 Valrico FL. 335385
813.659.9197

BUILDING CONSULTANTS, INC..

Phone No.:
Floridoa Board of Professionalys Engineers

Certificate Of Authorizatio

Ry

Documents Prepared By:

i3 .08

Lyndon, F. Schmidt, P.E. No. 43409

"IMPACT RESISTANT”

PART OR ASSEMBLY:
VERTICAL

CROSS SECTIONS

"ASCENT SERIES”
ALUM. CLAD WOOD DOORS

PRODUCT:
OUTSWING —

BY

REVISIONS

37

\2_/ @ WIDE STILE

NOJ DATE

DATE: 10,/04,/05

scAlE:  N.T.S.

DWG. BY: AEM

CHK. BY: LFS

DRAWING NO.:
S-2601

SHEET _2 oF 12




C e e e ) NOTES: ] ,
e e e e e e e T @ 1. ITEM 41 #8 X 1" PPH SCREWS (3) ANCHORING TOP RAIL RETAINING BRACKET TO TOP RAIL AT 4" FROM 1
e e T et g, EACH SIDE OF FRAME AND 1 ON CENTER. &

L
%)
2. ITEM 38 fs X 3/4" PFH SCREWS (3) ANCHORING BOTTOM RAIL CLIP TO THRESHOLD AT 6" FROM EACH . s
SIDE OF FRAME AND 1 ON CENTER. ] a )
54 10 3. ITEM 38 #8 X 3E/4" PFH SCREWS (3) ANCHORING TOP RAIL RETAINING BRACKET TO HEAD JAMB AT 6 g B =
FROM EACH SIDE OF FRAME AND 1 ON CENTER. | ] 2 .
31 4. ITEM 39 #8 x 3/4” PFH SCREWS (3) ANCHORING BOTTOM RAIL CLIP TO BOTTOM RAIL AT 6" FROM EACH AEZ R sANS
37 SIDE_OF FRAME AND 1 ON CENTER. 28 2\
3 5. SURFACE BOLTS USED ON LATCH STILE AT HEAD AND SILL ON NORMALLY INACTIVE DOOR ONLY OF EE8 8 a\\Y
=0 X @ DOUBLE _DOOR CONFIGURATION. 2>n 8% 8
11 { 6. SURFACE BOLT STRIKE PLATE & ASTRAGAL STRIKE PLATE FOR USE ON DOUBLE DOOR CONFIGURATION 2op 5t
27 g e oY 21 59 oxds3 ©
o] 0 g s
0 NOTE 3 - 44 5 B28y0r 3
| 85083, E
26 . e e 16 g ReTog g
Z INTERIOR P § g o
35 .'f."""" g ‘_9‘ E c
66 ~ 7 2 A g & Lo g
SEE NOTE 1(41 i - - 404 s -
@ 33 S pEd7 : |
d Z|
‘\ - \ ,mﬂ // IIH, &g é
& @ ysd s
(58) o8 52
R EXTERIOR 20 3. R3S
© — z s =
nL gy 2@
EXTERIOR /" 2"\ HORIZONTAL CROSS SECTION =33 =
Sl= v
/4 \ VERTICAL CROSS SECTION \3/ @ ASTRAGAL 83 |8 =8
\_3_/ @ SIDELITE (TOP RAIL) S LRSI
e e e e SEE S| 253 S
‘ ' - el e : 'Td.. NOTE 6 8 <EE
) ar . “ ] : 4 =2 <
g B » a Sla
S @ SEE T
10 /. NOTE 5 @ b
SEE -
NOTE 6 31 EXTERIOR INTERIOR EXTERIOR
37 :"“
- N 16 =7\ m
U @)= @ ) AV 5
Nl : Q
N . %)
. [0
SEE (61 f SEE
@ i SEE == EW;
.\1 /‘ NOTE 5 “{\’ @ L)
———— —~Q NG S
¥ I E AN
(12— | ® A S
EXTERIOR | INTERIOR T TR DATE: 10,/04./05
. I - R scAle: N.T.S.
DWG. BY: AEM
i CHK. BY: LFS
/"6 \ VERTICAL CROSS SECTION /“7°\ VERTICAL CROSS SECTION 73 /3 \ VERTICAL CROSS SECTION "R"w'“;fgso 1
\3/ @ DOOR (TOP RAIL) \_3_/ @ DOOR (BOTTOM RAIL) \y @ SIDELITE (BOTTOM RAIL) ——

\\Rwbcsrvirwbc\Proj 801 - 900\pf833\5-2601\5-2601-3.dwg




\\Rwbesrv\rwbc\Proj 801 - 900\pf8331S-2601\5-2601-4.dwg

@\ D ﬁ)
=/ ¢

35) \40 ’
16 ] e @
D @) N (+)
/
A

INTERIOR

\

A\Y
N
y/i
A\Y

777

7
)

ooe | 0% o LTSV

@—
N
S0

=

P.O. Box 230 Valrico FL. 3359
813.659.9197

BUILDING CONSULTANTS, INC.
Phone No.:

Florida Board of Professional
Certificote Of Authorization

Ry

Documents Prepared By:

// 32.08

Lyndon, F. Schmidt, P.E. No. 43409

2
‘ @ NOTE 1 29 SEE
38) SEE , (20) 3 (0 28)SEE NOTE 1
NOTE 2 NOTE 2
HORIZONTAL CROSS SECTION 9"\ HORIZONTAL CROSS SECTION
\4_/ @ HINGE / MULLION / WIDE SIDELITE \4_/ @ [ATCH / MULLION / NARROW SIDELITE

AppmVodﬂquﬂmm

NOTES Flerida Bad

ITEM 41 #8 X 1" PPH SCREWS (7) ANCHORING RETAINING
BRACKET TO STILE AT 2" FROM EACH SIDE OF SASH AND 5
MORE EQUALLY SPACED (14.875")

ITEM 38 #8 X 3/4" PFH SCREWS (7) ANCHORING RETAINING

HORIZONTAL
CROSS SECTIONS

"ASCENT SERIES”
ALUM. CLAD WOOD DOORS
OQUTSWING — _"IMPACT RESISTANT”
PART OR ASSEMBLY:

PRODUCT:

BRACKET TO SIDE JAMB AT 4" FROM EACH SIDE OF FRAME AND

35 5 MORE EQUALLY SPACED (14.5416”)

;e

40

2
2
/

N ©

7L

AN

' o
b

BY

REVISIONS

b

1@@5

30

SN
U

EXTERIOR

SEE NOTE 2
NOTE 1

1 i a
D q 66 @
@ 29 0 (70 @ <8) SEE I%Jg%-'E 1

NOTE 2

1"\ HORIZONTAL CROSS SECTION
\4_/ @ NARROW SIDELITE / MULLION / HINGE

HORIZONTAL CROSS SECTION
W @ LATCH / MULLION / WIDE SIDELITE

NOJ DATE

DATE: 10,/04,/05

SCALE:  N.T.S.

DWG. BY: AEM

CHK. BY: LFS

DRAWING NO.:
$-2601

SHEET _4 oF 12




4000 40 4Ol WOY4 ﬂ

SSOTEY] SOVEY PN I'd PILSS T4 uopuy ONISOHONY 3UI13aIS % 2NOISIAZY
Ad JiVa [ON]|w o~
B ‘ ¥00d F19NIS Slsl=|w |
A\m\ OIDZLIOWINY JO 9IPORIISD - N M Ll S
~gioaul Duolssajold JO pibog Dpio|4 *ATGNISSY H0 1dvd M ~ L oo
LBLE'6S9°CLE "ON auoyd .LZ<.~M.<WM& .\.U,\n:\ﬁ: — INIMSINO N =z m n% 5_
S6SES 14 OOWIA 05T X08 “O'd \SV% SH4000_QOOM (V10 WY S lslsle o
‘ONI ‘SINVIINSNOD ONIGTING «S3IF3S INIOSY, aldls] |2 &
. :Ag pedpdsig sjusiunsoq :10N0a0yd S|31&8|3 w %
| . dAIN3D NO
_ A _ XYW ,88°¢C]
i | | ] i ] )
—_ — <
X
/ S o~
3
) . O
-9 __._I._ ) g e
S v iy < - = LR <
v [ Luj = Lo
ol « -2 zO < -
e Qs £z v v &
(e} . W Ly e % [T}
Aq - ememant N et _IH.._
— I o :
L | | | HEEE-
w..q..w N R i N L3 .A.”v * -
Tl | R | q - o
- . B 4 4..c AA.. ) @ w Lm v... m .44 B mdv 4..4 w
R . S Y o W > e e W 2
@) o= x <
— .9 2 (@] nAM w
m Q = m.nv
S =

51 G-

4000 40 dOL WO¥d

WSZ7L MIINID NO g3LvooTl L0G'6Z ¥3INTO NO Q3Lvo0T — m
JIVId IMHLS INIOD—ILINW | FIVId IMHLS INIOD—LLINW _ Ly
¥00d 40 dol . . o
WoY4 /1 65 Q3LVI0T m_ =
b 3LV 3MINIS MIINTD | _ g
®
< == < < E ¢ 4 ey § 1
o /N L (e / f L (e 717 !
e :
S0 00 60e,:
< =
)
) _ , Y¥3INID NO
© ‘XYW ,.88°C)
w | | | | | i} )
< Q
/ & _\ m ;ANH
) e 3 %)
. .... L ] EADn._ " a 9 ANn rf._u._
C O ] : L |
...4.._ [} D:W .a.q . = >
r3 o £ s
5 T, a v © Hn\uv
BN | | | | ] g =
« a.d.d . . _ v N k2 I Mn. .‘.v.,. —_Lll_m.
< LT A - ... v .. E R | 4 A < Q.
S S AR x g > LIS PERR TR
S S z W
> < N
N = =
= [
5 <C
w S
=3
< Z
= W &
5 =
(@) o Q
Ly Q=
o (]
= NG
T 2o
O |
a o
g
G 2
¥00d 40 ! 10 0L 10 ~ TE
dol ol .11 |JA|C._ WSLEVT S o3

1.

BMP*G-T092-5\T09Z-5\EEBINO0E - 108 [01d\DqMAAISIGME\Y



A MINIMUM 3"

_So-gy/ _ BO¥cHy 'ON ‘3'd 94pILYsS ‘4 UOpUuA] SNOISIAIY
i ONIJOHONY 4000 & =TV Ton] o N
R 378n0a Q| sl1= |0 — | =
el Rozuouyiny JO SIbDIIIS) - / S _M_n._ rIJ Q|
sioouibuy |oloissajold jo pipog DpHOld *ATBNISSY W0 lavd M = . 0 °
/616°659°C18 FON SUoUY TINVISISIT TOVaAT, — ONIWSINO X[ % g | o
S6SEE 14 OSUIPA OST XO8 '0'd \§m\m S¥00Q_qOoM Qv10 "ANTY 2 |E|Elg v
“ONI *SLNVLINSNOO ONITUNE «S3IYIS INIISY, gldlel¢|E 3
: :Ag peubdaid Ssjuswinoog -10Naoyd SI1E|3|5 ]
o~
[N —
ol m
RS
n =
@ .\//7\\ [
//\ . /
@/ ] @/
3 W_o /|
// ] R CA o~
° = . .\ 0 -
i z (@) \ <
0 i & oJ c
5 T -m A
\ [
O . - |
LA ¥00a 40 70 0L 10 R
d01 01 11 s 74N 44
©
L
~ | 5| | ] | ~
- -— - [ —_—
S _ _ Y3INIO NO .
- I ¥ . .
=5 XYW ,88°C1 ©
O
o O
_— LW N G— Z
i FL = x|
< S > < O
H < =\ _H_ % &
© m = o W_ a © Z
In,\\_ 255 — L H
! _/(l =
- - WHHHHHH'HHHHHHHHHHHHHHHU s
i
A\l :
—_ )
] —~ N B m
O k
N b 5 ° oy
. o - Ly i
. .q Ay _LAL W m Y w
N1 mina to RS 3
N QS 37 - o o
. WMm S = =z <
N T. L] v (o] < .
2 _ . 0 & 2
_ _ _ _ _ || e -
. ‘q.A. .. w m_m 5
. T . — e >0 2
2 o S R (3 ST e & a
[<o] : v D 4 P S R =0 b
< . e H- . P N . L voos (@] by
« HY R < fyen o AMn * W
X o< Ly > O - n
2@ o <
_ & B2 < 25 2
@ Qg o5 Ly o
> 2L 28 Fy
N =° TE Y3
5g 29
o3 &
N
a3k
_¥000 40 doL Wodd ¢ ¥00@ 40 doL Wo¥d ¢ y I
LSV 83IN3O NO @3LvOo01 L0G°6Z HIINIO NO Q31IVIO01 = I 3 ~ 5
IVd IMIMLS INIOd—ILTINW | Jivid IMI¥LS INIOd—I1TINAW | W MM W M
<
@ ¥00Q 40 d0l _ 32 20
| Wo¥d .»/1 66 d3LvO01 S 25 Su
JIVId IMELS ¥IINTO ! va_ & == 8
1 2 29 g
\; = o ween =z & <C
o[ e * ) oﬂl_lH_ . a7 e X < L
<N ¢+ &SR ¢ T @B o S% 33
[z 7/ 7 ! 7\ 7 [ / 17 L Suw ¥,
. = s Q 0
5 w2
. a b S0
® ® ® 34 i3 i
=i $3 &0
£ K3 s
, T2
> »E
~

1.

b6mpP*9-1092-S\1092-S\£€8JAN06 - 108 [01d\2qmAAISIGMA\\




\\Rwbesrvirwbe\Proj 801 - 900\pf833\S-2601\S-2601-7.dwg

2X
BUCK

DOOR
FRAME

MASONRY

e TYP. IN SILL
SEE NOTE 2

NOTES:

1/4” TAPCONS REQUIRE A MINIMUM 2-1/2"
CLEARANCE TO MASONRY EDGES AND A MINIMUM
3" CLEARANCE TO ADJACENT TAPCONS FOR FULL
RATED CAPACITY.

. 3/16" TAPCONS REQUIRE A MINIMUM 2~

CLEARANCE TO MASONRY EDGES AND A MINIMUM
2-5/16" CLEARANCE TO ADJACENT TAPCONS.

TYP. HEAD &

JAMBS

UNLESS OTHERWISE

NOTED

21" MAX
ON CENTER

—

STRAGAL LOCATION

NLY.

IN SILL
SEE NOTE 2

A
SHOWN FOR REFERENCEN
0

OF DOOR

» €D

24.375
CL. TO CL.

—t=—11" TO TOP

HINGE DETAIL

DOUBLE DOOR W/SIDELITES FRAME ANCHORING @
\

(s7

ea/

DETAIL 1
SEE
P
( '\\\\%ﬁ !
———F {
’ DETAIL 2 o

13.88” MAX
ON CENTER

N,
®

MULTI—-POINT STRIKE PLATE
- LOCATED ON CENTER 14.75"

FROM TOP OF DOOR

[ ]
\Bﬂ ~
- - t
Lo s
W o
EE
N S
Wy
N Eog
~ 9
L wn Q
Q
o L
LS
=S8q =
o (Y] Q
@ H o 9R g“?
(2]
| ‘ an
- w o
: B_}_ x O
B xr=z9
=W
@A oot
=
=
Sy
N o‘-aE
ETs
oo 300
Q&
N [ )
Bﬂ _ _ ~
1 t
L]
SN

'E
=

STRIKE PLATE @_ ASTRAGAL DETAIL

"~ o
@ p
7] ~
M ~N
3] S~
z"
6 E D o
Eo® g +
<-§S§S Lo
hso 5o ]
a>M 2% o
Zowot %
» OM L~ 0 .
>soN..Q__E W
O o xSeE o
\3%02041 o
P zay £
5.9 cB% 2
-1
0.—000 E
0 2L 0y £
Mmoo 0+« 0
a ] ]
] L§ U;S
t ™
o <
E@% Lo 5
3 )
[3} [
8 2
T
Z
w
%'@ )
20& N=Z
N o =0
] o
T2 [s g
589, 88
‘“30_5 Q<<
= Sla
S22 40
S (| BE
0n© 0l 2D
S_ol< S
vep R (e =]
= =2Z] &
Q :EO
21 =5
] <R
& S ES
a Sla
>_
aa]
[%4]
=z
o
1%
>
[iN]
o
=
<C
a
O
=
DATE: 10,/04,/05
SCALE: N.T.S.
DWG. BY: AEM
CHK. BY: LFS
DRAWING NO.:
S-2601

SHEET _7 oF 12




S04 mowﬂ "ON "3'd PSS "4 UopuA INIHOHONY SALTIGIS = SNOISIATY e I |
i, /M 8000 FTONIS SIME =
8 - WORDZLIOYINY JO 8IPOYIHSD s > S Y _rIJ m L
sisBuU 0IS$9401d JO pIpOg DpUOo|4 ATBNISSY H0 Luvd M - < . O} ©°
cele'659°c18 "oN suouy ANVISISIY LOYdAI, — INIMSINO X< g »ﬂ 8_
S6SEE "4 OSLIOA 07 xo8 ‘0'd \S&% S¥000_GOOM Q1D "WNV S| lglgle o
"ONI ‘SINVLINSNOD ONIaINg «S3I¥3S INIOSY,, il glel® m
:Ag peaupdelg sjuswinoog ~110Ndoyd W AR m %
~ d000 40 doi Wo¥d ¢ 4004 40 doL wod4 ¢
«SLYL YIINIO NO d3Lvo0T «0G6°64Z HIINIO NO d31VO07
JLVid IMIHLS INIOd—ILTINW I ALVid INHLS INIOD—ILTINW _

400d 40 doli .
WOY4 ¥/ 65 QILVI0T >
@U/ S0 3LvId 3MLS ¥AINTD ! 8

A

fj 1

:

P\

N

-

N

PN

fj 1

I

NUN

STRIKE_PLATE_® JAMB DETAIL

8
: £
1
SR
8- -
MIINTO NO 3
| o] :
-9
<

«9 m\ _ XYW ,89°¢C1

o
<
v
o
K| Q
O
2
.* L <
T : :
B = =
2” A
< Y3INTO NO s &
© XYW L2 T
Q O [92]
< Y
Y] =
Tunono o
.M
Q= -
WANO %
=DZ N
x =
N o
e
o
Qo
b <
S o
2 & 2
N v
EN U_‘I ﬁDu
5 >
g o
3= <
@/SV’. =
) e}
) T%
[ ] W g
= o — — =z O
, - 5 < Q
. T .. I , < x I
(e} ‘ K P : v mﬂ._
v N O v " N ’_T
s N I VZAW WW_ W « fIv? Cm
2 S5 S N
m D_.r A W
<t =
= 3 <
=0
N.I
L
&) =y
@ k @ <z
I 3 &3
= 3
< >3
L &
Q ©
S4’
L
Q & o
2 e
T
<
) Tw
g ez
9 5%

1.

d0l o1 =FF|JHUI=mhm:¢N

BMmp 8-1097-S\109Z-S\££8JA\006 - T08 f0id\IgmAAISIGMY\\



Lo £/  60oved V_ ‘I'd “IPIUYDS "4 UOPUA] ONINOHONY 31/T3CIS 5 SNOISIATY SvaTorl o N
P /# H00a F1ONIS O A=ln| (&
g ‘ON YbipziORNY 3O 91D9YRISD - N QWi S,
ssoouibugy ploisssjold Jo pipog Dplol4 *AT18NISSY M0 1dvd M_u, ~ < L, ©O|[0°
L6LE'6G9°ELG TON suoyd ANYISISFY LOVAAWL, — SNIMSING < g J_ 9_
SEGEE 14 OSUIPA 0£Z xog .o.m\h\ﬁg S¥00dJ_JOoM avid ‘Wnv 2 Elale v
- "ONI ‘SINVLINSNOD SNITING (SIS IN3OSY, ild]elv|2 "
:Ag peupdeig sjuswnoog :1.0NQgodd 2121383 m %
4004 40 dol Woy¥4 ¢ Y000 40 dOL Wo¥4 ¢ =
«SLVL Y3INIO NO d3Lvo0oT 066/ ¥3INIDO NO Q3Ivo01 &
JIVId IAELS INIOd—ILTINA ! JLVId IMHLS INIOd—ILTINW I o
4000 40 do1 . W
WO¥4 /L 6§ Q3LVOOT . g = 3
| 3IVId 3MMLS YIINIO ! e =
E
ety —— Ll .u%
ﬁ X A-_HHH_WN A A (== ° A A ﬁoL_HwH__Ia.v A W .“M
{2 S N L [ f L e 7 1< o g5
L . g
4 ® © ® ® ® ® . § |4
= T g
B $

UNLESS OTHERWISE

¥3INID NO 4 i
XYW 1T %

: . 2}’ .
I o ) 4 4 ”»
e 6
D SIDELITE
31
TYP. HEAD &
JAMBS
— NOTED
§>TYP
a 4 g ——»‘—}-:L—-J
6”

—
—
—

. IN SILL

SEE NOTE 1

SINGLE DOOR W/SIDELITE FRAME_ANCHORING

d3IN3O NO
XV .88°CL

_

6"
" <
?
A <
a
==
4-' '-ﬂ
o N ) .,
A e
N .1‘
fom = e
2X

BUCK

DOOR
FRAME

MASONl

HINGE DETAIL

KOOQ 40 I INO O.h 10
dOL OL wbb=f==c/cpz . o

3/16" TAPCONS REQUIRE A MINIMUM 2" CLEARANCE TO MASONRY EDGES AND A

MINIMUM 2-5/16" CLEARANCE TO ADJACENT TAPCONS.

1.

BMP*6-1092-5\1092-S\E£8JA\006 - T08 [01d\IqMIAISIqmU



493"

~
© 2
~ ©
ﬁ.
()

i;"' ' 811"
T

34 BOTTOM RAIL CLIP

610" —— % |——}
—

.400”
360"

RAIL WEATHER STRIP CLIP

26

—-1 1.422" D_
N

@ RETAINING CLIP

.937”

.566"

@ WEATHER STRIP

|

068" —

.750" ——-I

A—I 1.625"

@TRIM / PANEL STOP

625"

@ GLASS STOP

J * =
L 2.270" ~J
@ MULLION CAP

[*-— 3.5VOO"

—=— 750"

_:_—1 ,«» 469"

L=

@FRAME CLADDINJ
r— 4.438"

250"

1

60" — "
J

AN

¥
—

PANEL

-

0000

.120" __..,__,

N

4.000”

© 009

5

ﬁ?ﬁ[&/

.@ HINGE

.625"

]

~— .068”"

—1 1.688" l*—

SESSNW

r—— 4.688" ——*I
4.063"

|
DAANAY

4207 — 075" —={}=—
TOP_RAIL TOP RAIL
CLADDING

T

2.123"

l——— 2.987"

OUTSWING THRESHOLD

x|

5.625"

_/ (SIDELITE)

=

HINGE / SIDELITE STILE

——

|

2.123"

_f

@]

5]

,\ ~
-]
)
(=)

C

Tl"‘* 2.234" —>l T

@ ASTRAGAL CLADDING

@ OUTSWING THRESHOLD

e

(NARROW)

%

2/ WEATHER STRIP i

py T 4083 | | 4.063" ——10'
N ‘AN §
R [ve] % s ©
S SS ! /) N ) S
Q % S o

I 214" 230" ] | T — 190" 250" —]| |1

@LATCH / ASTRAGAL STILE

——i=— .060"

]
4.688” —J

HINGE / LATCH / SIDELITE

TU;— 2.75"% |

STILE CLADDING

@ ASTRAGAL CLADDING ? f
[sRe)
© N
Q¥
—~f  2125" |—|
P
©
I/

—

SIDELITE STILE

4
7 (NARROW)

2.000" |=— |
. . S
m L R
2 % O
[Ty} [ ~
gm 2§ |
2 .0
FE2U 2
E o @ :;
N 3 gr’i g_‘g .
& po0 8%
o 2g® 5%
0 & o G T c o
0 Q32 %2 .
g £ @ o - 3
[+] 3 . E Eo E
3028, =
a‘_‘ maqa mds ﬁ
) § .g,f—f v
§ 5% -
S g o s
3 o
9 c
8 >
MULLION BLOCK
46 y
nE
%
i L OO
oved a3 comp?}'mgwhhm ;(ﬁ QE .
Buiging i’ g ES - E
: Wl W
e (ngas NS %
; » = Slag &
%& 5253 =
: a5 o o
Qo 1}y o
' Lol <
S %Zn:
2| =3|o
” }—
-420 = ” o 5 &
— 1.688 l——— & 3=
//IL _ ~
f ! o
1‘0 X
TS}
N
g
~— .065" z
N
= : >
b ¥ R o
3 M
o ~N
o0
Lt
e
y <
b= )
o
i 3
=z
.L = DATE: 10,/04./05
SCALE:  N.T.S.
=] * 075 DWG. BY:  AEM
BOTTOM RAIL BOTTOM RAJL [et 8¢ LFS
CLADDING 6 DRAWING NO.:
S5—-2601

sHeeT 10 oF 12

\WWRwhbesrv\rwbc\Proj 801 - 800\pf83315-2601\5-2601-10.dwg




\\Rwhcsrvirwbc\Proj 801 - 900\pf83315-2601\5-2601-11.dwg

8.000"

| —1 0375
©)

L':O 3"
=1 & | RO

\ 425 DIA x 78' CSK (2)
260 DIA DRILL THRU (2)

0.500"

Tl
1.375" L‘J

DH— 0.100"

0.375" —=

SURFACE BOLT STRIKE PLATE

°0 BRASS
3 1219”“}"——-l
[—‘l
S O
O
O
|| 8 5
- o
O
JTemt L 1S

L*—A— 1.000”

SURFACE BOLT
BRASS

59

7.000”

—— 0.315"

0.451”

813.659.9197

P.0. Box 230 Valrico FL. 33595

BUILDING CONSULTANTS, INC.
Phone No.:

Florida Board of Professional
Certificate Of Authorization

Ry

Docurnents Prepared By:

y/ sy

Lyndon, F. Schmidt, P.E. No, 43409

( - I C ) ) -1
! 8.818" ,I ? _
MmN
, 9.842” 2 ©
S o
' 8.799” (LOCKED) |
7.598” (UNLOCKED)
4.803"
— r— —— —— _[
L ® ® @ @ @ © J ] —
N . N I N |
% MORTISE DOOR BOLT ® 5 §
= STAINLESS STEEL A
S
3.250" —= 3%, 375"
— 1. 750" S L
0.885" —=— SES fuanoon 7}?? D
50'320 'y 1.000" —~—~l
S , k O © ©>T 39.750"
| i
HEAD & SILL ROD GUIDE SHOOT BOLT
STAINLESS STEEL STEEL
Appmvdgwmhgmm

~— 3.000" —=] >

1

0.518" ——

1.081" —

@ FLUSH BOLT ASSEMBLY

|~ 0.315"

]

)

(&

9
0.452"

0.518"

FLUSH BOLT STRIKE PLATE

@ THRESHOLD — ALUMINUM

1.081" —

FLUSH BOLT STRIKE PLATE

© HEAD — STAINLESS STEEL

1.203"

COMPONENTS

"ASCENT SERIES”
ALUM. CLAD WOOD DOORS
QUTSWING — "IMPACT RESISTANT”

PART OR_ASSEMBLY:

PRODUCT:

BY

NOJ| DATE

REVISIONS

oATE: 10,/04,/05

SCALE:  N.T.S.

DWG. BY: AEM

CHK. BY: LFS

DRAWING NO.:
$—-2601

SHEEr 171 oF 12




WRwhesrvirwbe\Proj 801 - 900\pf8331\5-2601\5-2601-12.dwg

R

\
.
") Y
o 2ol .
P VA BN
PN L]
%v) £
U
S .~ 3!
.E'_O'lu_j [+1]
BE5 %N ¢
0% T A
Z 0o o
[
o0 o N\z
Z 0 h~EF LN
om® 2 N,
W
o :
oa =t g o
oxzo‘ag
z 9 ey
a0 pw R
| '5‘50 €
DQ.:ou, ﬁ
Dol @y 8
o Q
23
o0 <
o s
°
5
a

Documents Prepared By:

ITEM DESCRIPTION MATERIAL  |ITEM DESCRIPTION MATERIAL
1 |HEAD JAMBE FINGER—=JOINT WOOD 49| PECORA 896 GLAZING COMPOUND -
2 |HINGE JAMB FINGER—JOINT WOOD 50[SILICONE GLAZING COMPOUND DOW 995 SILICONE
3 |LATCH JAMB FINGER—JOINT WOOD 51|GLAZING SHIM (.250” X .065 X 4.07) —
4 [OUTSWING THRESHOLD AL./COMP./WOOD| 52 #12 X 1—1/4" SURFACE BOLT TO DOOR PFH WS BRASS
5 [TOP RAIL LVL/WOOD 53| GLAZING TAPE .094” x .265° BUTYL TAPE -
6-|BOTTOM RAIL LVL/WOOD 54|BACKER ROD NEOPRENE
7 |HINGE STILE LVL/WOO0D 55|MULLION CAP (6063—T76 ALUM.) ALUM.
8 [LATCH / ASTRAGAL STILE LVL/WOOD 56|#7 X 1—1/4" LOCK ASSEMBLY SCREW PFH WS ST. STEEL
9 |SIDELITE JAMB FINGER—JOINT WOOD 57|#7 X 5/8" FLUSH BOLT SCREW PFH WS ST. STEEL
10| 2X BUCK WOOD 58|#8 X 2" ASTRAGAL SCREW ST. STEEL
11 |FRAME CLADDING (6063—T6 ALUM.) ALUM. 59| SURFACE BOLT BRASS
12| TOP RAIL CLADDING (6063—T6 ALUM.) ALUM. 60| SURFACE BOLT STRIKE PLATE BRASS
13| HINGE /LATCH /WIDE SIDELITE /ASTRAGAL STILE CLADDING ALUM 61|FLUSH BOLT STRIKE PLATE AT HEAD ST. STEEL
(6063-T6 ALUM.) ' 62|FLUSH BOLT STRIKE PLATE THRESHOLD ALUM.
14|BOTTOM RAIL CLADDING (6063—16 ALUM.) ALUM. 63|#12 X 1—1/2” SIRIKE PLATE SCREW BRASS
15| WEATHER STRIP. - 64|#10 X 2—1/2” STRIKE PLATE SCREW (HEAD) STEEL
16| 18ga 1-1/4" BRAD NAIL STEEL 65|SIDELITE STILE CLADDING (NARROW) (6063—T6 ALUM.) ALUM.
17| 18ga 1" BRAD NAIL STEEL 66| SASH SEALANT SILICONE
18| HINGE BRASS 67| SIDELITE STILE (WIDE) LVL/WOOD
13/32" LAMINATED GLASS 68| MASONRY CONCRETE
19| (SENTRYGLAS PLUS BY DUPONT) GLASS 69| MULTI—POINT STRIKE PLATE BRASS
5/32" ANN. / .090” SGP / 5/32” ANN. 70|STRIKE PLATE SCREW #8 X 2—1/8" BRASS
20| LATCH AND DEADBOLT STRIKE PLATE BRASS 7113/16” X 2-3/4" TAPCON STEEL
21|#7 X 5/8" STRIKE PLATE SCREW PFH WS BRASS 72{#10 X 3° PFH WS STEEL
22| #12 X 2=1/2” HINGE TO JAMB SCREW PFH WS BRASS 7311/4” X 2=3/4” TAPCON STEEL
23| #10 X 5/8” HINGE TO JAMB PFH MACHINE SCREW BRASS 74|#12 X 3" STRIKE PLATE SCREW BRASS
24|#12 X 1—1/2" HINGE TO DOOR SCREW PFH WS BRASS
25|#8 X 1-3/4" THRESHOLD PFH WS STEEL
26| RAIL WEATHER STRIP CLIP (6063—16 ALUM.) ALUM.
27| PANEL WEATHER SIRIP PVC
28|1/4” MAX. SHIM WOOD
29| DUST COVER -
30| WOOD BUSHING INSERT FOR #10 MACH. SCREW STEEL 13/32"
31|#8 X 3" JAMB TO BUCK PFH WS STEEL GLASS THK.
32| GLASS STOP (CLEAR PINE OR EQUAL) * WOOD 5 /32" (4
33| TRIM / PANEL STOP (CLEAR PINE OR EQUAL) * WOOD AﬁNEAL(EDmg”L)ASS
34| BOTTOM RAIL CLIP STEEL
35|18ga 1—1/4” BRAD NAIL STEEL
36| OUTSWING THRESHOLD (SIDELITE) AL./COMP_/WO0D .090” SENTRYGLAS -PLUS
37| SEALANT SILICONE BY DUPONT
38|#8 X 3/4” CUP TO JAMB / THRESHOLD PFH WS STEEL
39|#8 X 3/4” CLIP TO BOTTOM RAIL PFH WS STEEL ”
40| RETAINING CLIP VINYL %iZEAU(;bmg”L)ASS
47[#8 X 3/4” RETAINING CLIP TO STILE / TOP RAIL PPH SMS STEEL
42| ASTRAGAL WOOD
43 ASTRAGAL CLADDING (6063—16 ALUM.) ALUM.
44|FLUSH BOLT ASSEMBLY =
45[GU EAGLE MULTI—POINT LOCK ASSEMBLY - '
46| MULLION BLOCK VL 19)-2LAZING DETAL
47| SIDELITE STILE (NARROW) LVL/WOOD
48| FOAM TAPE -

SG .42 OR BETTER WOOD

GLAZING DETAIL

. "ASCENT SERIES”
ALUM. CLAD WOOD DOORS
QUTSWING —_"IMPACT RESISTANT

PART OR ASSEMBLY: v
BILL OF MATERIALS &

PRODUCT:

1 BY

REVISIONS

NOJ DATE

DATE: 10/04,/05

SCALE:  N.T.S.

DWG. BY:  AEM

CHK. BY: LFS

DRAWING NO.:
5-2601

SHEET 12 oF 12




